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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 477 59.41 | =hst | 0oo ~ 000|176 8.88 ZznLst 1.00 | 5.00 ~ 5.00 59.41 | =S | 5,00 ~ 5.00)|1.76 8.88
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 692 87.71 | #hdst | 0oo ~ 000|171 8.64 znLst 1.00 | 5.00 ~ 8.60 87.71 | =0 | 5,00 ~ 860 1.71 8.64
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 722 91.88 | =hst | 0oo ~ 000|176 8.91 znLst 1.00 | 6.00 ~ 9.18 91.88 | #ns | 5,00 ~ 9.18|1.76 8.91
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 7.37 94.01 | =hst | 0oo ~ 000|172 8.71 znLst 1.00 |1 6.00 ~ 957 94.01 | =0 | 5,00 ~ 9.67|1.72 8.71
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 000 ~ 752 96.17 | =hst | 0oo ~ 000|171 8.62 znLst 1.00 | 5.00 ~ 9.99 96.17 | #nS | 5,00 ~ 9.99|1.71 8.62
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 745 95.12 | =hst | 0oo ~ 000|178 8.97 ZznLst 1.00 | 5.00 ~ 9.70 95.12 | =nS | 5,00 ~ 9.70]1.78 8.97
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 |1 0.00 ~ 6.21 78.00 | =nLSY | 000 ~ 621 1.83 9.23 znLst 1.00 | 5.00 ~ 7.30 78.00 | FnRS | 6.00 ~ 7.30 | 1.83 9.23
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 477 59.46 | Th4s | 000 ~ 000|175 8.83 ZznLst 1.00 | 5.00 ~ 5.00 59.46 | =N | 5,00 ~ 5.00)|1.75 8.83
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImERZ D ~
Zh LS ~ ZhLst ~ Zh S ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZhLS ~ ZhnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZhLS ~ ZhnLst ~ ZhLS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZhLS ~ ZhnLst ~ ZhLS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
ZzhLst ~ s ~ ZzhLst ~ s ~
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